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[ Find F' (x). |
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10. F(x) = fo t? dt 11. F(x) = fsxz tan(¢) dt 12. F(x) = fég(x) sec(t) dt
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13. F(o) = [ f(©) dt 14. F(x) = [t + D de 15. F(x) = [*,(3t — D dt
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6.4 Accumulation Functions Test Prep

18. Let g(x) = %fo’cx/tz +9dt. Whatis g(—4)?
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The graph of a functlon f on the closed interval [0, 6] is shown above. Let h(x) = f (t)dtfor0 <x < 6.
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f(x)
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The figure above shows the region A, which is bounded by the x- and y-axes, the graph of f(x) =

X

1—-cosx

for x > 0, and the vertical line x = b. If increases at a rate of % units per second, how fast is the area of

. . . s
region A increasing when b = 5?
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